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IGRL | SInE K4 oUT IN |GROSS| HDCP | NET |crosshat I BLE | BINE K4 OUT IN |GROSS| HDCP | NET |crossiifr fi
L= A 36 36 721 0.0 | 72.0 S %ix 40 48 88/ 0.0 | 88.0
2| AR S 36 38 74| 0.0 | 74.0 52| E 48 41 89/ 0.0 | 89.0
3|RA B 39 36 75/ 0.0 | 75.0 52| F 1 B5L 47 42 89/ 0.0 | 89.0
AR 25t 38 37 75 0.0 | 75.0 52|k it 47 42 89/ 0.0 | 89.0
4188 AR 38 37 75/ 0.0 | 75.0 52| =48 KER 46 43 89/ 0.0 | 89.0
6//hE E 40 36 76| 0.0 | 76.0 52| FEx 46 43 89/ 0.0 | 89.0
N 37 40 77) 0.0 | 77.0 52 FEH A 44 45 89/ 0.0 | 89.0
71781 iz 41 36 77/ 0.0 | 77.0 B2|mA ER 45 44| 89 0.0 | 89.0
TIHFE ¥ KER 41 36 770 0.0 | 77.0 52| H] Hh 45 44 89/ 0.0 | 89.0
1080 B 38 40 78/ 0.0 | 78.0 52|'H IR FEK 43 46 89/ 0.0 | 89.0
10| FE /. KFn 39 39 78/ 0.0 | 78.0 b2 |5 H: kst 46 43 89| 0.0 | 89.0
10| /N FEZ 38 40 78/ 0.0 | 78.0 52|FEH EFn 47 42 89| 0.0 | 89.0
10| & 38 40 78 0.0 | 78.0 52| KB R 48 41 89/ 0.0 | 89.0
10|FeAR] BE— 42 36 78/ 0.0 | 78.0 64 |FEEF #— 46 44 90| 0.0 | 90.0
15| H 8 #EAKER 39 40 79/ 0.0 | 79.0 6458 FEiG 45 45 90| 0.0 | 90.0
16/89H H+ 43 37 80/ 0.0 | 80.0 64|82k 15 47 43 90| 0.0 | 90.0
16| +H & 40 40 80/ 0.0 | 80.0 64| ARH = 47 43 90| 0.0 | 90.0
16411l [E— 39 41 80/ 0.0 | 80.0 68| [Tk R 42 49 91 0.0 | 91.0
16 Gt W2 42 38 80| 0.0 | 80.0 68| HrE ) 47 44 91| 0.0 | 91.0
20| AR FHESC 43 38 81| 0.0 | 81.0 68/NH M B 47 44 91 0.0 | 91.0
20| ARWE {22571 40 41 81| 0.0 | 81.0 68| ZE: KIr 46 45 91| 0.0 | 91.0
20 K8 fE—ER 39 42 81| 0.0 | 81.0 68| 7R LBA 47 44 91| 0.0 | 91.0
20| B K 42 39 81| 0.0 | 81.0 68 A )1 BE K 49 42 91| 0.0 | 91.0
20 G 1K 43 38 81| 0.0 | 81.0 T4| K& =K 51 41 92| 0.0 | 92.0
25| B AR KE 39 43 82| 0.0 | 82.0 T4 % BB 47 45 92 0.0 | 92.0
26 |t 1] HEdk 41 42 83| 0.0 | 83.0 T4|7EIRJE 48 44 92| 0.0 | 92.0
26|/ Ak A 39 44 83 0.0 | 83.0 17 =00 K 52 41 93| 0.0 | 93.0
26| P4 5 E st 44 39 83| 0.0 | 83.0 78 BT I BE— 48 46 94/ 0.0 | 94.0
29| I ki 49 35 84/ 0.0 | 84.0 78| tE il K EA 48 46 94/ 0.0 | 94.0
29| % T 39 45 84! 0.0 | 84.0 78| BE 48 46 94| 0.0 | 94.0
20| = ke A 44 40 84/ 0.0 | 84.0 78| VR ST 51 43 94| 0.0 | 94.0
2|BR 1L B== 42 43 85| 0.0 | 85.0 78| ThEG 52 42 94] 0.0 | 94.0
32| ARE HE 42 43 85/ 0.0 | 85.0 83|FJR T 48 47 95/ 0.0 | 95.0
32| Rkl 43 42 85| 0.0 | 85.0 84| A1l FEAER 52 44 96/ 0.0 | 96.0
35|5F 1L 43 43 86/ 0.0 | 86.0 84 /MK 7] 50 46 96| 0.0 | 96.0
35 LB ik 42 44 86/ 0.0 | 86.0 86| & I 52 45 97/ 0.0 | 97.0
B2 X 44 42 86/ 0.0 | 86.0 86| Y 51 46 97/ 0.0 | 97.0
38| i ARfH 42 45 87| 0.0 | 87.0 86|45 ff 48 49 97] 0.0 | 97.0
38| MBI /A 42 45 87/ 0.0 | 87.0 89 ZEAR K— 52 46 98/ 0.0 | 98.0
38| FH HFH 44 43 87| 0.0 | 87.0 90| Kl HE= 50 49 99 0.0 | 99.0
38| 1Ly ZRE 43 44 87/ 0.0 | 87.0 91|/ My etk 55 45/ 100/ 0.0 |100.0
38|k HhH 43 44 87| 0.0 | 87.0 91| IUA BEIT 46 54/  100] 0.0 [100.0
38| I K 44 43 87| 0.0 | 87.0 93| FKH A%E 57 44| 101] 0.0 |101.0
8PN F 46 41 87| 0.0 | 87.0 931178 P&z 55 46| 101| 0.0 |101.0
45/ 1LH A& 47 41 88| 0.0 | 88.0 93 R A 54 47]  101] 0.0 [101.0
455/ B E 41 47 88/ 0.0 | 88.0 93|k B — 46 55| 101] 0.0 [101.0
45| {5 44 44 88| 0.0 | 88.0 97T I X #hi— 53 50/ 103 0.0 [103.0
45/ 98N 1B 46 42 88/ 0.0 | 88.0 97|85k P 53 50/ 103 0.0 [103.0
45| ARFK 52 46 42 88| 0.0 | 88.0 99|45 CRER 49 55/ 104 0.0 |104.0
45 )1 & KER 46 42 88/ 0.0 | 88.0 100|4xH fRER 54 51| 105/ 0.0 [105.0
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TR 58 48/ 106/ 0.0 |106.0
102| FH &4 51 57|  108| 0.0 [108.0
103 /A A 57 52| 109 0.0 [109.0
1041 &— 52 57| 109 0.0 [109.0
105| = HF % 51 61| 112 0.0 [112.0
1064k FIJER 57 60| 117) 0.0 |[117.0
107|206 50— 71 53| 124] 0.0 [124.0
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1 |FHE Ak 45 40| 85 85.0
2 /it PSS 44 41| 85 85. 0
3 |RAS BEREG 42 43| 85 85.0
4 |JEHE BT 48 41| 89 89. 0
5 |HH s 45 46| 91 91.0
6 [dbA HAF 45 48| 93 93.0
6 |[IIF = 45 48| 93 93.0
8 |/NER SRF 46 49| 95 95.0
9 | ET 46 50| 96 96. 0
10 |BJII 5L+ 51 50| 101 101. 0
11 | Z# B 55 50| 105 105.0
11 |&i &¥ 52 53| 105 105. 0
13 [N T4 53 53| 106 106. 0
14 |&H Biv 54 53| 107 107.0
14 RS INAF 53 54| 107 107.0
16 |G 8 55 53| 108 108. 0
17 | s 56 58| 114 114.0
18 |k &+ 54 61| 115 115.0
18 LA a3k 57 58| 115 115.0
18 | R#f Tk 58 57| 115 115.0
21 |/ME AT 64 56| 120 120. 0
22 |fPH =& 70 53| 123 123.0
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